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A mark-reading sheet has been included. The paper consists of two sections, Section A and
Section B. Section A must be completed on the mark-reading sheet and Section B on the paper
tseff, in the space provided The mark-reading sheet must be handed in together with your
examination paper. Please note that all information on the mark-reading sheet should be
completed in PENCIL

Read the instructions and questions in this paper carefully.
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Encircle the number of each question you complete in Section B on the cover of the examination
paper in the column provided for this purpose See example below:

Question No 1 2
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Section B
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A page for rough work has been included for your convenience at the end of the exam paper
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SECTION A: MULTIPLE-CHOICE QUESTIONS (COMPULSORY)

This section must be completed on the mark-reading sheet. Use a PENCIL when completing
the mark-reading sheet.

1 In terms of human resource planning, the HR information that 1s made available either before or
dunng the strategic planning process refers to linkages

1 input

2 output

3 review and reaction
4 decision inclusion

2 From the list below, choose the aspects that reflect strategic human resource planning for strategic
change,

specifying strategic objectives for change efforts

participation in an assessment of the global and organisational environment
developing corporate and business-level plans for strategic change

specifying the objectives of HR change efforts to ensure forecasted needs are met
developing HR plans with measurements and imetables

[ =By R = ]

1 a,bandc
2 c,dande
3 b,dand e
4 a

3 If there are more than 300 members of a trade union employed in a workplace, how many shop
stewards Is the trade union entitled to elect?

Up to a maximum of 7 representatives

Up to a maximum of 10 representatives
Up to a maximum of 12 representatives
Up to a maximum of 20 representatives

TRy N

4 If a company intends to implement a flexitime arrangement and conducts research with the am of
obtaining the employees’ opinion about the matter, it will be using a

1 job descriptive index (JDI)

2 specific-use questionnaire

3 job satisfaction survey

4 position analysis questionnaire

5 Mary 1s an accountant employed by a flower distnbution company She 1s extremely capable and 1s
currently responsible for captunng information on the company’s debtors and creditors on the
accounting software program Her direct supervisor, Tom, unexpectedly passes away and the owner
of the business approaches her to temporarly take on Tom’s responsibilihes as well. She I1s very
excited and motivated by this new challenge In terms of job design, this I1s called job

1 rotation

2 ennchment
3 evaluation

4 enlargement

[TURN OVER]
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The purpose of bargaining I1s to create a cooperative negotiating relationship that benefits both
parties. This bargaining type refers to bargaining

1 integrative bargaining
2 productivity bargaining
3 concession bargaining
4 distnbutive bargainng

You are a ine manager at a small company. A few years ago, you completed your BCom degree In
Human Resource Management and you plan to further your studies in this field When you were
locking for empioyment after your studies, you could not find any in HR, but this opportunity of being
appointed as a line manager arose The company cutsources much of its HR activities, but 1t has
asked for your help. The company wants to recrut a team leader for one of its production lines and
wants to place an advertisement in the regional newspaper At first glance, you realse that the
advertisement they drafted does not comply with the principles of a good adverisement. You write a
report to indicate which questions should be asked when compiiing a successful advertisement
Which of the questions from the kst below would you include in your report?

a What message should the advertisement convey?
b How and where would you advertise?
c What do-you want to accomplish?
d Who do you want to reach?
1 a
2 bandc
3 a,bandd
4 a,b,candd
Choose the correct option from the list below. The following information regarding a secretanal job
should be contained n a (a) : “Types at least 50 words per minute”. The following
information regarding a secretanial job should be contained in a (b) : “Types at least 50
words per minute with no more than two errors, using MS Word"
1 (a) KSA (b) job descnption
2 (a) job speciication (b) performance standard
3 {a) job description (b) KSA
4 (a) performance standard (b) job descnption
The process of creating a pool of suitable candidates for a specific job Is called (a) The

process of choosing the most suttable candidate from this pool for a spectic position 1s called (b)

1 {a) recruitment {b) selection

2 {a) human resource planmng (b) recruitment

3 (a) selection {b) interviewing

4 {a) interviewing (b) human resource planning

The following are advantages of using an employment agency when recruiting job incumbents,
except for

reducing the number of Interviews

interviewing only the nght candidate

saving time and money by finding, interviewing and selecting only the most qualified candidates
increasing the amount of ime spent on the selection process

BN =
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National Carriers I1s an airhne that wants to appoint five new pilots. They have decided to use a panel

interview followed by a test dunng the selection process The aim of the test 1s to evaluate the

candidate’s ability to land and take off safely within the required tme and parameters The
will be the best method 1o determine this competency

1 simulation test

2 pen and paper test
3 in-basket exercise
4 assessment centre

The objectives of an induction/onentation programme can be achieved by implementing three phases
of induction. The first phase encompasses all the leamning that occurs before a new member joins the
organisation and is called the phase.

1 encounter

2 anticipatory socialisation
3 change and acquisition
4 settiement

According to Alderfer's ERG theory of motivation, a person will

1 move to the next level in the hierarchy only once the needs of the previous lower level have
been satisfied

2 be motivated if the need for achievement 1s criical for organisational success

3 only increase his or her job performance through goal setting, in other words if given
measurable goals rather than vague performance standards

4 concentrate on other needs if one of his or her needs 1s not satisfied

A typical onentation programme in a large organisation is developed and monitored by

1 the new employee’s co-workers
2 the chief executive officer (CEO)
3 the human resource depariment
4 the new employee’s supervisor

Which one of the following statements regarding effective internal staffing 1s NOT correct?

1 When employers emphasise internal staffing, their first obligation 1s to pay close attention to
identfying the current employee skill levels and development needs

2 it 15 not imperative that a human resource information system (HRIS) exist within an
organtsation

3 For an internal staffing programme to succeed, tt must involve top-level managers as well as
line managers

4 HR managers must recognise both formal and informal power structures within their
organisations and the desire of employees to maintain the status quo

The reassignment of an employee to a job with similar pay status, duties and responsibilities 1s called

retrenchment
promotion

a transfer

a demotion

Wl -
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When trade unions form affilations to gan greater bargaining power, such affiliations are known as

confederations
bargaining counciis
trade union federations
workplace forums

N =

When supervisors interview their employee’s customers, supphers, peers and sometimes
subordinates to develop a more complete picture of the employee’s performance, this type of
performance appraisal Is called a

1 360° appraisal

2 peer review

3 reverse apprasal

4 team portfolio appraisal

Behaviourally anchored rating scales (BARS) are applied in a rating-scale approach normally used In
combination with .

the critical incident method
management by objectives (MBO)
the forced choice method

the forced distribution method

N -

Solly, HR manager of a medium-sized information technology (IT) company, I1s conducting biannual
performance appraisals (PAs) with the employees of the organmisation All the staff members
understand the system and supervisors have been properly trained to conduct the appraisals.

If Solty had never conducted performance appraisals before, and had awarded all the employees high
evaluations because he beheved that employees would feel they had been accurately appraised {(or
that they, even If they knew they had been inaccurately appraised, would realise it was to therr
benefit), what common rating error would he be gty of?

1 the halo effect

2 rater bias

3 lemency

4 the central tendency

You are the training and development (T & D) officer of a provincial branch of a retail-clothing store
You are conducting assessments on three levels, namely an orgamisational analysis, an operations
analysis and a person analysis. Which kind of assessment 1s taking place?

1 employee assessment
2 operations assessment
3 needs assessment

4 skills assessment

You are an expenenced engineer giving guidance to a junior engineer who i1s stll completing his
degree In addition, you facilitate his personal development, “show him the repes” in the organisation,
and help hir with his work  This 1s an example of

guiding
coaching
advising
mentoring

N -

[TURN OVER]



23

24

25

26

27

6 HRM2605/RHR2605
May/June 2013

Career planning begins with ganing a realistic understanding of

1 promotional possibilties

2 the nature of the firm

3 oneself

4 the opportunities competitors offer

You are the HR manager of a new clothing factory and you are setting the objectives for the
compensation system What three aspects should be present if the organisation wants to motivate
employees and encourage good performance?

peer criticism

accurate performance evaluation
performance rewards

panel appraisal

supervisor feedback

o ao0Fe

1 a,bande
2 b,dand e
3 b,cande
4 a,candd

Eric is the regional HR manager of Billy's Chicken, a national takeaway food group He 15 conducting
job evaluations of shop managers in Gauteng He encounters certain problems with the job evaluation
method that he has decided to use for this purpose The biggest problems/disadvantages are that the
method -

. Is relatively time-consuming
. 1s costly to develop
. requires significant interaction and decision making by the different parties involved

What job evaluation method 1s Eric using?

1 job ranking

2 point

3 factor comparison
4 job classification

In terms of compensation, a can be used to estimate the average salanes of employees
in specific jobs or categones in the labour market

wage survey
wage assessment
wage examination
wage review

W -

Tembi is a fighter plane pilot in the United States of America, and she is currently being deployed n
Iraq. She 1s experiencing intestinal distress, frequent iliness, insomnia, fatigue, imtability and a lack of
concentration What do you think, keeping the theory in your prescribed book in mind, 1s the main
probable cause of the symptoms that she Is experiencing?

lack of motivation
Job stress

family conflicts
heart problems

N -
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28 When Anna, a teacher at an elementary school, starts to believe that she cannot and will not continue
to do her job, and has the overall perception that she i1s giving much more than she is recewving from
the school in the form of monetary rewards, support, recogniion and advancement, she s
experiencing

1 interpersonal conflict
2 demotivation

3 burnout

4 soctal problems

29  According to Dayalan Govender and Jean Grundling, stress 1s never the result of a single factor
Which one of the following I1s, according to them, NOT an interrelated factor/stressor that causes

stress?

1 ineffective decision making

2 high levels of work pressure

3 too many social commitments

4 an mabilty to organise and manage time effectively

30 Jack often calls his employer on a Monday morning to infform him that he 1s sick You suspect that he
has a drinking or drug-related problem. You approach your head of depariment for advice on how to
deal correctly with Jack. He indicates that it 1s important to follow the steps suggested by the South
Afncan National Council for Alcoholism and Drug Dependency (SANCA), as this 1s your company’s
policy. According to SANCA, the first step in dealing with Jack's drug/alcohol problem in the
workplace would be to

arrange a disciplinary heanng

determine the cause(s) of Jack’s dependency
confront Jack in a firm but supportive manner
dismiss Jack immediatety

A WON =

[TOTAL FOR SECTION A = 30 MARKS]

SECTION B: ESSAY QUESTIONS (COMPULSORY)

Please note: Answer TWO of the three questions from this section in the space provided.
Please use headings and subheadings and make sure that your handwriting is legible.

Encircle the numbers of the questions you answer on the cover page of the examination
paper. See example below:

Question No 1 2
Section A
Section B
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Question 1 «Students should not write in this space

You are the HR manager of a large mining company You have determined that you need to
appoint three new engineers with engineenng degrees and five years' working experience You
have recruted internally, but without success Discuss four appropriate external recrutment
methods you could use to fill these specific positions (12)

[TURN OVER]
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12 Gnevance handing forms a critical part of labour relations The multistep procedure usually
includes arbitration as a final step The gnievance process could prevent minor disagreements

from disrupting the workplace unnecessarily Explain the difference between a grievance and a
complaint (3)

P RN
1 |
i |
3,

-
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It is said that the existence of an effective grievance handling process can benefit both the
organisation and the mndividual concerned. In which manner would you say the two parties
concerned benefit from an effective grievance handling process? (5)

L]

' ~
‘
‘_
5,

-

\
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Question 2 «Students should not write in this space

21

You are the trainng and development manager of a national branch of a retail pharmacy group
Explain in detail to the production manager what the first phase of the systems approach to
training and development (T& D) entails by identifying the specific phase and discussing the three
levels at which this phase may be conducted. (10)

[TURN OVER]
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22 Job evaluation is the process of systematically analysing jobs to determine their relative worth in
the organisation. Firstly identfy and briefly discuss each of the four most popular job evaluation
methods by identifying and bnefly discussing each method Then state which method 1s the most
appropriate method to use for the evaluation of a bookkeeping position and provide a reason for
your answer. (10

JOB

Ev%ggu DESCRIPTION

[TURN GVER]
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Question 3 «Students should not write in this space

31

Tommy is a training consultant for an HR outsourcing company A law firm approaches him to
offer leadership and management training to their board of directors to improve their leadership
and managemeni skills. Tommy decides to use away-from-the-job training, because he feels that
these lawyers’ jobs are very stressful and that training would be more successful away from their
working environment, as it will enabie themn to focus only on the traimng. 1dentfy and discuss
any three (3) appropriate methods that Tommy could use for this training session Also Indicate
which one you would particularly prefer and why (10)

[TURN OVER]
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3.2 Interms of the Labour Relations Act 66 of 1995 (LRA), there are only three grounds on which an
employee can be fairly dismissed Fustly define the concept of dismissal. Secondly, name and
discuss each of these three grounds for dismissal. {10)

[TURN OVER}
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Did you complete all the multiple-choice questions?

Did you complete all your personal particulars on the cover of the examination paper?

Have you placed your completed mark-reading sheet in the examination paper?

Have you encircled the humbers of the TWO questions you completed in Section B of the paper on the
cover of the examination paper?
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